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2000395
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2000395
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1000395
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2000395
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2000395
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6002370

7002765

8003160
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11004345
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14005530

15005925

16006320
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18007110

19007505
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2000395

20003¢ =

2000395

20003¢ =

2000395

20003¢ =

2000395

20003¢ =

200039%

20003¢ =

2000395

20003¢ =

2000395

20003¢ =

2000395

20003¢ =

100039%

20003¢ =

2000395

20003¢ =

2000395
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2000395

20007900

21008295

22008690

23009085

24009480

25009875

26010270

27010665

28011060

29011455
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32012640

33013035

34013430

35013825

36014220

37014615

38015010

39015405

40015800
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20003¢ =

2000395

20003¢ =

2000395

20003¢ =

2000395

20003¢ =

200039&

43016985

44017380

45017775
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47018565

48018960
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50019750
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